



OFFICE OF THE CITY MANAGER



**TO:** Honorable Mayor and Members of the City Council

**FROM:** Patrick Urich, City Manager *Patrick Urich*

**DATE:** April 4, 2014

**SUBJECT:** Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

**FEMA Public Assistance Program Award**

The Illinois Emergency Management Agency (IEMA), the administrator of the Federal Emergency Management Agency (FEMA) Public Assistance program for the State of Illinois, has completed the final review and awarded grant funding for eligible costs incurred by the City of Peoria for the declared April 2013 flood disaster.

The Public Works Department provided the applicable information and after many hours meeting with FEMA project specialists, visiting the various sites, employing a significant amount of staff time and FEMA/IEMA reviews, the City has been awarded a total of \$729,041.67 in eligible costs to be reimbursed at 75% or \$546,781.26. Cost categories are as follows:

Category	Eligible Costs	Reimbursement
A. Debris Removal	\$40,206.57	\$30,154.93
B. Emergency Protective Measures	\$399,983.54	\$299,987.66
C. Road & Bridge Systems	\$151,103.00	\$113,327.25
D. Utility Systems	\$137,748.56	\$103,311.42

The City is submitting an appeal for another \$137,800 in eligible costs, or \$103,350 at the 75% reimbursement rate, for a disputed culvert repair which was previously determined ineligible. The City anticipates a positive outcome once additional information is submitted to IEMA/FEMA.

**Community Development Block Grant Award Process**

Attached is a summary from the Community Development Department of the process that was used to select the proposed Community Development Block Grant (CDBG) recipients.

**Emergency Communications Center Report: March 2014**

Attached is the ECC Report for the month of March.

Issues Update  
April 4, 2014

**Site Plan Review Board Agenda**

The SPRB agenda from March 31<sup>st</sup> is attached. Any questions related to the listed projects should be directed to the Planner assigned to the case.

**Housing Court Cases**

The list of housing court cases scheduled for April 8<sup>th</sup> is attached.

**Code Violation Cases**

The list of Code violation cases scheduled for April 8<sup>th</sup> is attached.



## COMMUNITY DEVELOPMENT DEPARTMENT



On April 22, 2014, the award of 2014 Community Development Block Grant (CDBG) funds for public services will be presented to the City Council for consideration. This issues update is a review of the award process.

### City Council Direction and Public Service Priorities

Per the City Council's directive on December 11, 2012, City staff and the Human Resources Commission (HRC) undertook a lengthy review of the public service application and award process. This included seven regular meetings of the Commission in 2013. Changes adopted by the HRC, a request to approve the 2014 public service award timeline, and five public service priorities were included in the November 12, 2013 communication to the City Council.

The public service process changes were:

- Priorities would provide focus for application activities. Only applications addressing approved priorities will be accepted.
- In order to encourage new applications, twenty percent of the funds may be set aside for new programs.
- The application has been revised to provide more clarity for applicants and Commissioners.
- A two year funding cycle will begin for 2014/2015. This will make the funding cycle consistent with the City of Peoria's two year funding process.
- CDBG public service funding cannot exceed 50% of the funding of the CDBG proposed activity
- In order to "smooth" the scoring, the highest and lowest rankings will be removed from the scoring process.
- Applicants are required to attend the Clarification Hearing.
- After each members makes a preliminary ranking, the HRC will meet in open session to discuss each application and then each member shall have the opportunity to revise their individual ranking,
- City staff will review each application for completeness. Staff will not accept an application that does not address a City Council approved priority. Late application will not be accepted, and
- The expansion of the Commission to thirteen members.

**City of Peoria  
419 Fulton Street, Suite 300  
Peoria, Illinois 61602-1217**





The CDBG public service priorities approved by the City Council for the 2014/2015 funding years are:

- Youth Services (ages 13 through 19)
- Abused and Neglected Children Services,
- Senior Services,
- Mental Health Services, and
- Child Care Services (birth through age 12).

### The 2014 CDBG Public Service Process

On December 31, 2013, the Community Development Department mailed 116 letters to religious and social service organizations announcing the City of Peoria's public service program and how to access an application and instructions. It also noted an application training workshop would be held on January 31, 2014. A legal ad was ran on January 17, 2014, which announced applications were available and the date of the training. Twenty-seven people attended the training workshop.

The deadline for applications was Friday, February 14, 2014, at 5:00 pm. Twenty-four applications were received. Each included one original and 13 copies. The copies were picked up by Human Resources Commissioners the following week.

Clarification presentations were conducted on February 26, 2014. All 24 applications had representatives present. Each made presentations and answered Commissioner questions. Presentation began at 8:40 am and ended at noon. The Commissioners also completed a conflict of interest form and publicly announced any conflict of interest they had with an applicant before the presentations began.

Over the next two weeks, Commissioners ranked and recommended award amounts using an evaluation form supplied by staff. These were turned into staff during the week ending March 14, 2014. Commissioners having a conflict of interest noted such on the ranking form for each applicable agency and left the ranking and funding recommendation sections blank. Using the completed evaluation forms, staff computed the Commission's average ranking score and average funding recommendation. In addition to adjusting the results for conflicts of interest, staff also deleted the high and low score provided for each application to satisfy the sixth bullet point noted above. The results were e-mailed to the HRC as a spreadsheet with their March 26, 2014 agenda materials.

**City of Peoria  
419 Fulton Street, Suite 300  
Peoria, Illinois 61602-1217**





The main item on the March 26, 2014 HRC agenda was to make a recommendation to the City Council on the allocation of 2014 CDBG funds for public services. Using an electronic spreadsheet, ordered by high to low average ranking scores, the HRC developed and approved the award recommendation shown as Attachment A. Of the 20 applications recommended for funding, eight are new applications allocated \$80,000, or 34% of the available funding. The HRC's intent was to set aside 20% of the funds for new applications.

#### The 2015 Public Service Award Process

The 2014 public service application and award process was for a two year funding cycle, 2014 and 2015. Only those applications approved for 2014 funding will be considered for funding in 2015. The HRC will make a recommendation to the City Council for 2015 funding after staff has completed its monitoring of 2014 awards.

#### Evaluation of the Revised CDBG Public Service Application Process

In summary, the CDBG public service application and award process developed over the past year has worked well and staff believes the changes have improved the award process.

**City of Peoria  
419 Fulton Street, Suite 300  
Peoria, Illinois 61602-1217**





ATTACHMENT A

2014

City of Peoria  
HRC Funding  
Summary

CDBG

<u>Activity Name</u>	<u>Applicant</u>	<u>New Activity - Not CDBG funded in Previous Year</u>	<u>HRC Recommended Funding</u>
Child Abuse Victim Assistance	U of I Pediatric Resource Ctr		\$ 14,500
Crisis Nursery Family	Crittenton Centers		\$ 19,100
Emergency Response Service	Human Service Center		\$ 13,600
Child Development Center	Crittenton Centers		\$ 15,100
Focus on the Future After-School	Common Place Family Learning		\$ 20,000
Psychosocial Rehabilitation	CWTC		\$ 14,985
Special Education to Work	CWTC		\$ 10,000
Teen Violence Prevention	Ctr. for the Prev. of Abuse	New	\$ 10,000
Safe from the Start	Ctr. for the Prev. of Abuse	New	\$ 10,000
Teen Dev. Tutoring & Mentoring	Boys & Girls Clubs Peoria	New	\$ 10,000
Child Dev. Tutoring & Mentoring	Boys & Girls Clubs Peoria	New	\$ 10,000
CCBYS	Children's Home Association	New	\$ 10,000
Good Beginnings	Children's Home Association	New	\$ 10,000
After School Program	Peoria Friendship House		\$ 10,000
Court Appointed Special Advocate	CASA of Peoria County	New	\$ 10,000
HOI After School & Summer Program	Family Core		\$ 10,000
Seniors Safe at Home	Ctr. for the Prev. of Abuse		\$ 10,000
Meals of Wheels Supplemental	Neighborhood House Assoc.	New	\$ 10,000
Senior Citizens Legal Services	Prairie State Legal Services		\$ 10,000
Latino Outreach	Peoria Friendship House		\$ 10,000
Teens Org for Pride & Success	Tri-County Urban League		
Youth Employment Lawn Care	METEC		
Medical/Legal Advocacy...Disabled	Prairie State Legal Services		
Veterans' Haven	South Side Office of Concern		
<b>TOTAL</b>		\$ 80,000	\$ 237,285

NOTE: The CDBG public service budget for 2014 is \$237,285.

City of Peoria  
419 Fulton Street, Suite 300  
Peoria, Illinois 61602-1217



**Emergency  
Communications  
Center**



**Monthly Report  
MARCH 2014**

**Peoria  
9-1-1**

CITY OF PEORIA  
EMERGENCY COMMUNICATIONS CENTER 2014 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2013 Totals
Landbased 9-1-1 Calls	2,164	2,280	1,988										6,432	29,991
Wireless 9-1-1 Calls	5,742	5,389	6,170										17,301	74,753
<b>TOTAL 9-1-1 CALLS</b>	7,906	7,669	8,158	0	0	0	0	0	0	0	0	0	23,733	104,744
Peoria Police Incoming Calls	7,192	6,862	7,601										21,655	92,820
Sheriff's Police Incoming Calls	2,772	2,570	2,799										8,141	35,064
<b>TOTAL POLICE INCOMING CALLS</b>	9,964	9,432	10,400	0	0	0	0	0	0	0	0	0	29,796	127,884
Volunteer Fire/EMS toll free calls	54	47	45										146	448
Peoria Fire Incoming Calls	777	723	675										2,175	9,017
<b>TOTAL FIRE INCOMING CALLS</b>	831	770	720	0	0	0	0	0	0	0	0	0	2,321	9,465
Operator Assist Calls/Alarm Calls	1,035	1,004	834										2,873	10,052
Ambulance Incoming Calls	197	191	179										567	2,400
ECC Supervisor Incoming Calls	830	857	777										2,464	11,131
Richwoods Dispatcher Incoming Calls	77	78	70										225	1,166
Downtown Dispatcher Incoming Calls	76	68	88										232	729
Prep 2 Dispatcher Incoming Calls	570	603	718										1,891	8,953
C-MED Dispatcher Incoming Calls	54	52	38										144	676
County Sheriff Dispatcher Incoming Calls	50	56	52										158	596
Fire Dispatcher Incoming Calls	104	102	95										301	1,175
OverFlow Dispatcher Incoming Calls	20	16	6										42	123
Call Taker Incoming Calls	0	0	3										3	35
<b>TOTAL INCOMING EXTENSION CALLS</b>	1,781	1,832	1,847	0	0	0	0	0	0	0	0	0	5,460	24,584
<b>TOTAL OUTGOING EXTENSION CALLS</b>	6,089	5,850	6,030										17,969	64,140
Peoria Police Dispatches/On view	7,181	6,880	8,295										22,356	99,168
Peoria County Sheriff Dispatches/On view	2,382	2,135	2,181										6,698	27,701
<b>TOTAL POLICE DISPATCHES/ON VIEW</b>	9,563	9,015	10,476	0	0	0	0	0	0	0	0	0	29,054	126,869
Air National Guard Fire Dispatches	5	7	4										16	67
Akron-Princeville Fire Dispatches	18	18	19										55	234
Brimfield Fire Dispatches	26	33	33										92	316
Dunlap Fire Dispatches	36	29	27										92	364
Elmwood Fire Dispatches	14	15	15										44	150
Limestone Fire Dispatches	106	86	98										290	1,270
Logan-Trivoli Fire Dispatches	33	41	38										112	371
Peoria Fire Dispatches	1,652	1,472	1,563										4,687	18,315
Timber-Hollis Fire Dispatches	39	36	31										106	333
Tuscarora Fire Dispatches	2	2	4										8	34
West Peoria Fire Dispatches	53	27	62										142	522
MABAS Fire Calls	5	3	7										15	40
MABAS EMS Calls	0	0	0										0	0
<b>TOTAL FIRE DISPATCHES</b>	1,989	1,769	1,901	0	0	0	0	0	0	0	0	0	5,659	21,976
AMT Ambulance Dispatches	1,310	1,154	1,139										3,603	14,778
APA Ambulance Dispatches	10	15	15										40	189
BYE Ambulance Dispatches	41	45	40										126	474
<b>TOTAL AMBULANCE DISPATCHES</b>	1,361	1,214	1,194	0	0	0	0	0	0	0	0	0	3,769	15,441
Peoria County Coroner Incoming Calls	202	210	202										614	2,401
Community Messaging System Call-outs	12	9	39										60	189
Telephone Trouble Reports Completed	0	0	4										4	19
ETSB Equipment Trouble Reported	7	5	8										20	75
Citizen Concerns	1	3	0										4	20
CD Requests from State's Attorney's Office	2	3	2										7	72
CD Requests from FOI / Subpoena	6	3	5										14	41
CD Requests from Inner Departmental	3	7	6										16	108
<b>Total Number of CD Requests</b>	11	13	13	0	0	0	0	0	0	0	0	0	37	221
ILEAS Call Outs	0	0	0										0	0
JULIE Dig	65	163	85										313	617

## Yearly Summary

	<b>Number of Calls</b>	<b>Dispatch Response Time</b>	<b>Police Response Time</b>	<b>Total Time</b>	
<b>PEORIA POLICE</b>					
Urgent	7623	1.04	4.38	5.42	
Routine	7291	1.04	6.44	18.46	
Backlog	537	22.11	7.26	29.37	
<b>PEORIA COUNTY SHERIFF</b>					
Urgent	1056	1.63	7.59	9.22	
Routine	1429	10.84	9.70	20.54	
Backlog	143	30.08	12.37	42.45	
	<b>Number of Calls</b>	<b>Dispatch Response Time</b>	<b>Fire Response Time</b>	<b>Total Time</b>	<b>Average Turnout Time</b>
<b>PEORIA FIRE</b>	4632	0.76	4.54	5.31	1.59

City of Peoria  
Emergency Communications Center

Police Department  
Urgent Calls for Service  
By Police District

	Police District	VALLEY						BLUFF			RICHWOODS						Total Calls	Calls	Average				
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17				18	19		
January 2014	Number of Calls	104	138	363	184	42	173	100	119	287	209	228	97	79	214	6	110	142	2595		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	1.3	0.7	0.9	0.8	1.1	0.9	1.0	0.7	0.7	1.0	1.3	1.0	0.9	1.3	3.6	1.2	1.2	2567.5			2595	0.99
	Police Response Time	2.5	3.8	3.5	3.8	3.7	3.5	4.6	3.9	3.7	4.1	5.4	5.4	5.6	7.7	6.7	5.5	7.6	11927.5			2595	4.60
	Total time	3.8	4.5	4.4	4.6	4.8	4.4	5.6	4.6	4.4	5.1	6.7	6.4	6.5	9.0	10.3	6.7	8.8	14495.0			2595	5.59
	Exceptions																					0	
February 2014	Number of Calls	104	82	298	174	54	175	73	110	244	166	182	110	71	194	8	118	114	2277		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	0.6	0.6	1.6	1.0	1.1	0.9	1.5	0.8	1.0	1.3	1.2	1.0	0.9	1.2	0.6	0.9	1.3	2520.9			2277	1.11
	Police Response Time	2.6	4.1	3.8	3.5	3.5	3.3	6.1	3.7	3.5	6.0	4.6	4.9	5.5	7.1	10.0	4.7	7.2	10416.3			2277	4.57
	Total time	3.2	4.7	5.4	4.5	4.6	4.2	7.6	4.5	4.5	7.3	5.8	5.9	6.4	8.3	10.6	5.6	8.5	12937.2			2277	5.68
	Exceptions																					0	
March 2014	Number of Calls	122	116	414	201	49	232	98	137	325	232	242	97	81	177	4	111	113	2751		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	0.6	0.7	1.1	1.1	0.6	0.9	1.7	0.9	0.8	1.1	1.2	0.9	1.3	1.1	5.3	1.3	1.2	2853.0			2751	1.04
	Police Response Time	2.4	3.5	3.1	3.1	2.4	3.4	4.1	3.6	3.2	3.4	5.0	4.6	5.3	6.7	10.5	5.6	6.6	10916.3			2751	3.97
	Total time	3.0	4.2	4.2	4.2	3.0	4.3	5.8	4.5	4.0	4.5	6.2	5.5	6.6	7.8	15.8	6.9	7.8	13769.3			2751	5.01
	Exceptions																					0	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																							
Total Number of Calls							7623																
Total Number of Exceptions							0																
Average Dispatch Response Time							1.04																
Average Police Response Time							4.38																
Average Total Time							5.42																

Urgent-3 min or less  
Routine-30 min or less  
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria  
Emergency Communications Center

Police Department  
Routine Calls for Service  
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Calls	Average		
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19					
January 2014	Number of Calls	80	161	234	113	111	129	110	114	246	207	193	113	98	188	7	153	135	2392		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	7.9	9.5	7.9	10.4	9.9	11.6	9	10.4	11.2	10.7	11.6	8.8	11.3	9.5	9.8	11.9	13.9	24818.7			2392	10.38
	Police Response Time	4.6	6.8	5.4	5.4	6.5	5.5	6.9	5.9	5.7	5.6	6.5	8.1	7.4	8.7	11.1	8.8	9.2	15957.3			2392	6.67
	Total time	12.5	16.3	13.3	15.8	16.4	17.1	15.9	16.3	16.9	16.3	18.1	16.9	18.7	18.2	20.9	20.7	23.1	40776.0			2392	17.05
February 2014	Number of Calls	60	134	228	126	96	115	143	118	243	180	149	87	88	204	7	157	94	2229		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	8.3	9.6	10.1	11.8	9.8	5.8	11.8	8.3	13.2	14.7	12.0	8.7	8.5	10.9	13.1	12.7	17.7	24968.1			2229	11.20
	Police Response Time	5.2	6.5	5.8	5.4	5.7	5.0	6.5	6.0	5.4	5.8	7.5	6.8	7.4	8.6	10.1	8.6	9.3	14711.5			2229	6.60
	Total time	13.5	16.1	15.9	17.2	15.5	10.8	18.3	14.3	18.6	20.5	19.5	15.5	15.9	19.5	23.2	21.3	27.0	39679.6			2229	17.80
March 2014	Number of Calls	78	157	307	137	87	138	140	140	317	243	207	126	102	213	9	168	101	2670		(total min/total calls)		
	Exceptions																		0				
	Dispatch Response Time	8.9	15.0	11.4	16.3	12.3	11.9	14.5	12.4	17.5	16.6	14.9	14.9	15.0	15.9	2.1	15.6	12.6	38632.4			2670	14.47
	Police Response Time	4.5	5.1	4.7	4.4	5.1	5.2	6.8	6.0	5.6	5.1	6.0	7.4	7.6	8.1	10.4	8.5	7.8	16149.5			2670	6.05
	Total time	13.4	20.1	16.1	20.7	17.4	17.1	21.3	18.4	23.1	21.7	20.9	22.3	22.6	24.0	12.5	24.1	20.4	54781.9			2670	20.52
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																							
Total Number of Calls								7291															
Total Number of Exceptions								0															
Average Dispatch Response Time								12.0															
Average Police Response Time								6.4															
Average Total Time								18.5															

Urgent-3 min or less  
Routine-30 min or less  
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria  
Emergency Communications Center

Police Department  
Backlog Calls for Service  
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Calls	Average	
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2014	Number of Calls	5	36	14	8	5	6	9	7	17	19	5	7	14	8	0	1	8	169		(total min/total calls)	
	Exceptions																		0			
	Dispatch Response Time	22.0	19.5	9.9	12.9	6.4	1.5	36.4	23.0	34.4	18.1	12.8	14.6	36.5	8.1	0.0	4.0	14.6	3374.9	169	19.97	
	Police Response Time	12.6	8.7	4.4	5.8	5.8	3.3	9.3	8.1	7.3	5.2	4.6	7.7	9.5	8.7	0.0	0.0	11.8	1270.2	169	7.52	
	Total time	34.6	28.2	14.3	18.7	12.2	4.8	45.7	31.1	41.7	23.3	17.4	22.3	46.0	16.8	0.0	4.0	26.4	4645.1	169	27.49	
February 2014	Number of Calls	4	45	11	4	2	3	8	4	16	20	13	7	13	12	0	6	10	178		(total min/total calls)	
	Exceptions																		0			
	Dispatch Response Time	17.5	23.3	8.5	17.3	36.0	21.0	25.5	32.5	30.7	22.8	19.2	17.7	39.3	9.2	0.0	31.5	25.3	4134.2	178	23.23	
	Police Response Time	10.0	10.0	4.1	4.0	7.0	6.5	6.5	5.0	4.3	5.4	6.2	11.2	9.3	13.0	0.0	12.0	7.9	1420.3	178	7.98	
	Total time	27.5	33.3	12.6	21.3	43.0	27.5	32.0	37.5	35.0	28.2	25.4	28.9	48.6	22.2	0.0	43.5	33.2	5554.5	178	31.21	
March 2014	Number of Calls	6	37	13	7	2	8	13	7	25	13	13	7	7	9	1	10	12	190		(total min/total calls)	
	Exceptions																		0			
	Dispatch Response Time	15.8	20.4	18.0	25.1	29.0	17.5	30.1	22.3	21.9	23.9	26.8	32.0	13.4	31.3	0.0	31.7	22.2	4394.2	190	23.13	
	Police Response Time	3.3	7.3	5.8	4.0	3.0	4.4	5.4	5.2	5.6	4.5	7.8	5.7	7.7	6.8	19.0	8.2	8.0	1193.0	190	6.28	
	Total time	19.1	27.7	23.8	29.1	32.0	21.9	35.5	27.5	27.5	28.4	34.6	37.7	21.1	38.1	19.0	39.9	30.2	5587.2	190	29.41	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																						
Total Number of Calls																		537				
Total Number of Exceptions																		0				
Average Dispatch Response Time																		22.11				
Average Police Response Time																		7.26				
Average Total Time																		29.37				

Urgent-3 min or less  
Routine-30 min or less  
Backlog-60 min or less

This report does not include on-view incidents.

City of Peoria  
Emergency Communications Center

Peoria Fire Department  
Fire Calls for Service  
By Fire Map

Month	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	Calls	Average (total min/total calls)
	Number of Calls	100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099	Total Minutes		
January 2014	Number of Calls	263	96	225	65	153	148	123	236	53	151	80	50	1643		
	Dispatch Response Time	0.6	0.8	0.4	0.4	0.9	0.4	1.1	1.5	2.7	0.3	0.8	0.3	1304.2	1643	0.79
	Fire Response Time	3.8	4	4.2	4.6	4.2	5	4.6	5.4	4.3	5.1	6.3	6	7652.2	1643	4.66
	Total time	4.4	4.8	4.6	5.0	5.1	5.4	5.7	6.9	7.0	5.4	7.1	6.3	8956.4	1643	5.45
February 2014	Number of Calls	244	79	175	59	130	146	114	225	43	128	78	32	1453		
	Dispatch Response Time	0.7	0.6	0.6	1.2	0.4	0.4	1.1	1.0	0.5	0.6	0.8	0.5	1031.5	1453	0.71
	Fire Response Time	3.8	4.3	3.8	5.9	4.2	5.2	4.3	5.3	5	4.8	5.5	5.5	6702.3	1453	4.61
	Total time	4.5	4.9	4.4	7.1	4.6	5.6	5.4	6.3	5.5	5.4	6.3	6.0	7733.8	1453	5.32
March 2014	Number of Calls	277	98	221	64	138	144	103	217	26	138	73	37	1536		
	Dispatch Response Time	0.5	0.4	0.9	0.4	0.8	2.0	0.6	0.5	1.0	0.7	1.1	0.9	1207.1	1536	0.79
	Fire Response Time	3.5	3.7	4	4.9	4.1	4.7	4.3	4.9	5.1	4.7	5.8	5.6	6690.3	1536	4.36
	Total time	4.0	4.1	4.9	5.3	4.9	6.7	4.9	5.4	6.1	5.4	6.9	6.5	7897.4	1536	5.14
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																
Total Number of Calls													4632			
Average Dispatch Response Time													0.8			
Average Fire Response Time													4.5			
Average Total Time													5.3			

Peoria Fire Department  
Average Turn-Out Time for Each Apparatus  
2013

	<b>JAN</b>	<b>FEB</b>	<b>MAR</b>	<b>APR</b>	<b>MAY</b>	<b>JUN</b>	<b>JUL</b>	<b>AUG</b>	<b>SEP</b>	<b>OCT</b>	<b>NOV</b>	<b>DEC</b>	<b>Yearly Average</b>
B1	1.5	1.6	1.5										<b>1.53</b>
E1	1.7	1.6	1.6										<b>1.63</b>
R1	1.5	1.4	1.5										<b>1.47</b>
T1	1.8	1.4	1.8										<b>1.67</b>
E10	1.7	1.5	1.6										<b>1.60</b>
E12	1.6	1.8	1.5										<b>1.63</b>
E13	1.6	1.6	1.6										<b>1.60</b>
T14	1.7	2.1	1.5										<b>1.77</b>
E15	1.7	1.7	1.8										<b>1.73</b>
E16	1.7	1.6	1.5										<b>1.60</b>
E19	1.8	1.8	1.8										<b>1.80</b>
E2	1.6	1.6	1.6										<b>1.60</b>
R2	1.5	1.5	1.4										<b>1.47</b>
E20	1.8	1.6	1.7										<b>1.30</b>
B3	1.6	1.7	1.6										<b>1.63</b>
E3	1.3	1.3	1.3										<b>1.30</b>
T3	1.6	1.5	1.7										<b>1.60</b>
E4	1.5	1.8	1.5										<b>1.60</b>
T4	1.5	2.2	1.5										<b>1.73</b>
												Department Average	<b>1.59</b>

City of Peoria  
Emergency Communications Center

Peoria County Sheriff's Department  
Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Calls	Average
		(total min/total calls)														
January 2014	Number of Calls	5	2	9	2	91	80	51	19	36	28	64		387		
	Exceptions													0		
	Dispatch Response Time	1.8	8.5	1.0	0.0	1.7	2.0	1.6	1.0	0.7	1.3	1.8		627.1	387	1.62
	Police Response Time	4.6	12.5	9.1	14.0	8.2	8.0	12.7	7.6	3.4	8.5	4.5		2984.6	387	7.71
	Total time	6.4	21.0	10.1	14.0	9.9	10.0	14.3	8.6	4.1	9.8	6.3		3611.7	387	9.33
February 2014	Number of Calls	2	2	4	0	82	61	34	5	18	34	58		300		
	Exceptions													0		
	Dispatch Response Time	1.0	1.0	0.3	0.0	1.6	1.4	1.3	1.6	0.8	2.4	1.4		451.2	300	1.50
	Police Response Time	1.0	21.0	11.0	0.0	9.0	8.8	10.9	6.2	2.9	9.2	5.1		2425.2	300	8.08
	Total time	2.0	22.0	11.3	0.0	10.6	10.2	12.2	7.8	3.7	11.6	6.5		2876.4	300	9.59
March 2014	Number of Calls	3	10	7	1	77	80	40	5	21	36	89		369		
	Exceptions													0		
	Dispatch Response Time	3.0	0.9	1.6		2.6	1.6	1.6	0.5	0.6	2.7	1.3		649.4	369	1.76
	Police Response Time	4.3	15.0	8.0	15.0	7.6	6.9	12.9	7.5	3.9	6.5	3.8		2578.7	369	6.99
	Total time	7.3	15.9	9.6	15.0	10.2	8.5	14.5	8.0	4.5	9.2	5.1		3228.1	369	8.75
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																
Total Number of Calls														1056		
Total Number of Exceptions														0		
Average Dispatch Response Time														1.6		
Average Police Response Time														7.6		
Average Total Time														9.2		

City of Peoria  
Emergency Communications Center  
Peoria County Sheriff's Department  
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Calls	Average		
January 2014	Number of Calls	35	4	8	3	91	121	51	5	47	41	77		483		(total min/total calls)		
	Exceptions													0				
																	<b>Total Minutes</b>	
	Dispatch Response Time	8.7	18.3	3.0	17.3	11.0	8.9	10.4	9.2	8.7	6.9	9.4		4523.5			483	9.37
	Police Response Time	3.7	19.8	5.3	22.0	12.1	10.0	15.6	6.0	4.9	8.8	6.1		4514.6			483	9.35
	Total time	12.4	38.1	8.3	39.3	23.1	18.9	26.0	15.2	13.6	15.7	15.5		9038.1			483	18.71
February 2014	Number of Calls	11	8	5	4	87	128	54	5	19	41	64		426		(total min/total calls)		
	Exceptions													0				
																	<b>Total Minutes</b>	
	Dispatch Response Time	10.4	16.1	9.6	5.7	11.6	10.1	14.6	40.4	9.2	9.3	8.4		4700.1			426	11.03
	Police Response Time	4.5	18.3	9.3	21.3	12.0	10.0	15.1	19.4	4.5	9.3	5.0		4350.8			426	10.21
	Total time	14.9	34.4	18.9	27.0	23.6	20.1	29.7	59.8	13.7	18.6	13.4		9050.9			426	21.25
February 2014	Number of Calls	33	11	5	1	116	116	56	14	29	47	92		520		(total min/total calls)		
	Exceptions													0				
																	<b>Total Minutes</b>	
	Dispatch Response Time	8.1	8.1	10.2		14.2	13.0	8.7	16.3	9.2	13.4	12.2		6297.0			520	12.11
	Police Response Time	4.8	17.5	6.6	0.0	10.8	9.1	14.4	15.2	6.6	11.8	5.5		4963.5			520	9.55
	Total time	12.9	25.6	16.8	0.0	25.0	22.1	23.1	31.5	15.8	25.2	17.7		11260.5			520	21.65
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																		
Total Number of Calls														1429				
Total Number of Exceptions														0.0				
Average Dispatch Response Time														10.8				
Average Police Response Time														9.7				
Average Total Time														20.5				

City of Peoria  
Emergency Communications Center  
Peoria County Sheriff's Department  
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls	Calls	Average			
January 2014	Number of Calls	12	1	2	0	8	10	6	4	1	2	0		46		(total min/total calls)			
	Exceptions													0					
	Dispatch Response Time	80.3	17.0	0.5	0.0	19.0	10.6	11.3	4.0	11.0	49.5	0.0		1433.4			46	31.2	
	Police Response Time	21.8	0.0	1.0	0.0	11.3	6.7	13.2	7.0	0.0	28.0	0.0		584.2			46	12.7	
	Total time	102.1	17.0	1.5	0.0	30.3	17.3	24.5	11.0	11.0	77.5	0.0	0.0	2017.6			46	43.9	
February 2014	Number of Calls	0	6	1	4	7	10	1	9	0	0	6		44		(total min/total calls)			
	Exceptions													0					
	Dispatch Response Time	174.5	1.0	0.0	0.0	6.8	6.3	20.4	12.0	8.6	14.4	34.9		454.4			44	10.3	
	Police Response Time	30.0	22.0	0.0	0.0	12.8	12.3	12.6	7.0	12.1	5.8	14.3		506.0			44	11.5	
	Total time	204.5	23.0	0.0	0.0	19.6	18.6	33.0	19.0	20.7	20.2	49.2	0.0	960.4			44	21.8	
March 2014	Number of Calls	12	0	1	0	10	8	6	2	1	5	8		53		(total min/total calls)			
	Exceptions													0					
	Dispatch Response Time	148.0		18.0		18.5	45.3	4.5	0.5	5.0	16.4	15.9		2583.6			53	48.7	
	Police Response Time	20.3		14.0	0.0	16.1	5.5	15.4	2.0	6.0	14.6	5.9		684.9			53	12.9	
	Total time	168.3	0.0	32.0	0.0	34.6	50.8	19.9	2.5	11.0	31.0	21.8	0.0	3268.5			53	61.7	
<b>YEAR TO DATE TOTALS AND AVERAGES</b>																			
Total Number of Calls													143						
Total Number of Exceptions													0.0						
Average Dispatch Response Time													30.1						
Average Police Response Time													12.4						
Average Total Time													42.5						



**SITE PLAN REVIEW BOARD AGENDA**

Plans Distributed: **March 31, 2014**

Comments Due: **April 7, 2014**

Project ID	Address	Project Type	Project Description
14-65	18-17-259-015 100 Chicago St	CPZ Commission - Special Use/Rezone Combo	Junkyard Rezoning - (Council District 1) - KS
14-66	18-17-259-016 1918 SW Washington St	CPZ Commission - Special Use/Rezone Combo	Junkyard Rezoning - (Council District 1) - KS
14-67	18-08-328-029 1505 Martin St	Site Plan Review Board - Zoning Certificate	Parking Lot - 1505 Martin St - (Council District 1)- KS
14-68	2328 W Willow Knolls Rd	Site Plan Review Board - Zoning Certificate	Change of Use - Vacant to Restaurant - 2328 W Willow - (Council District 5) - LA
14-70	18-06-201-027 2308 Nebraska Ave	Site Plan Review Board - Zoning Certificate	New Office & Storage Building (Phase II) and Accessory Parking Lot (Phase I) - 2308 Nebraska Ave - (Council District 2) - ST
14-71	14-06-402-026 8300 N Allen Rd	Site Plan Review Board - Zoning Certificate	Parking Lot - 8300 N Allen Rd - (Council District 5) - LA
14-72	14-22-101-013 717 Bittersweet	Zoning Board of Appeals - Minor Variance	Minor Variance (Setbacks) - 717 Bittersweet Ave - (Council District 3) - ST
14-73	14-22-101-013 717 Bittersweet	Site Plan Review Board - Zoning Certificate	Centerline Setback Waiver- 717 Bittersweet Ave - (Council District 3) - ST

Staff Contacts:

Name	Leah Allison	Jide Giwa	Josh Naven	Kimberly Smith	Shannon Techie
Initials	LA	JG	JN	KS	ST
Phone	494-8667	494-8611	494-8657	494-8612	494-8649
Email	lallison@peoriagov.org	ogiwa@peoriagov.org	jnaven@peoriagov.org	kismith@peoriagov.org	stechie@peoriagov.org

			HOUSING COURT 4/8/14	49 CASES			
DAN	C	09:00 AM	FOOD SERVICE EQUIPMENT CORP	HC-13-695	WASHINGTON 0801 SW	08-Apr-14	REVIEW/PENDING
DAN	C	09:00 AM	CAGAR PROPERTIES INC.	HC-13-608	WASHINGTON 0927 SW	08-Apr-14	REVIEW
DAN	C	09:00 AM	BEE-J PROPERTIES LLC	HC-13-658	WASHINGTON 1301/1309	08-Apr-14	REVIEW
DAN	C	09:00 AM	WESSEL CHARLES	HC-13-609	WASHINGTON 2807 SW	08-Apr-14	REVIEW
KD	C	09:00 AM	COHEN BUILDING	HC-14-097	ADAMS 0332, 0334, 0336	08-Apr-14	REVIEW
LE	O	09:00 AM	TRAPP NICHOLAS	HC-13-750	BOURLAND 1218	08-Apr-14	REVIEW
LE	O	09:00 AM	PERKINS IZOLA	HC-13-359	CALIFORNIA 1712	08-Apr-14	REVIEW
LE	NO	09:00 AM	WILLIS/HILLIARD	HC-13-768	ILLINOIS 0407 E	08-Apr-14	REVIEW
LE	O	09:00 AM	PIVONEY NICHOLAS	HC-13-745	INSTITUTE 1104	08-Apr-14	REVIEW
LE	NO	09:00 AM	MURRY MELVIN	HC-13-748	NORTH 1216	08-Apr-14	REVIEW
LE	NO	09:00 AM	BUSHELL MICHAEL/LAURIE	HC-13-746	NORTH 1220	08-Apr-14	REVIEW
LE	NO	09:00 AM	FERRUZZA MICHAEL	HC-14-202	RAVINE 0307 E	08-Apr-14	FIRST APPEARANCE
LE	NO	09:00 AM	DIAZ JOSE	HC-13-765	SHERIDAN 1309	08-Apr-14	REVIEW
LE	NO	09:00 AM	BELLEMEY CHARLES	HC-13-044	VALLEY 1718	08-Apr-14	REVIEW
PM	NO	09:00 AM	CHICAGO TRUST	HC-14-086	CAROLINE 0801	08-Apr-14	REVIEW
PM	NO	09:00 AM	LAMBERT DARCEY	HC-14-090	CORNHILL 0410	08-Apr-14	FIRST APPEARANCE
PM	NO	09:00 AM	DURST KENNETH/LINDA	HC-14-087	GLENDALE 1421 NE	08-Apr-14	FIRST APPEARANCE
PM	NO	09:00 AM	SALEM BROS ENTERPRISES	HC-14-066	GREEN 0609	08-Apr-14	REHEARING/DEFAULT \$2000
PM	NO	09:00 AM	BACHMAN DAVID	HC-13-715	MADISON 3224 NE	08-Apr-14	REVIEW
PM	NO	09:00 AM	CORDELL CARLOS	HC-14-204	MARY 0703	08-Apr-14	FIRST APPEARANCE
PM	NO	09:00 AM	SJ LLC	HC-13-635	MONROE 2536 NE	08-Apr-14	REVIEW/DEFAULT PEND \$1500
PM	NO	09:00 AM	LEMAN/LANGENSTEIN	HC-14-016	MONROE 3526 NE	08-Apr-14	REVIEW
PM	NO	09:00 AM	BARRIGA/HERNANDEZ	HC-13-781	PERRY 1101 NE	08-Apr-14	REVIEW
SCA	O	09:00 AM	MELVIN JOYCE	HC-14-195	ARCADIA 0305 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	LUTHER ERC MATTHEW	HC-14-196	ARCADIA 0307 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	UNION PLANTERS TR (Huff)	HC-14-194	ARCADIA 0309 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	PEMBER JOE	HC-14-193	ARCADIA 0311 E	08-Apr-14	FIRST APPEARANCE
SCA	VA	09:00 AM	MCQUOWN STACY (EST)	HC-14-191	ARCADIA 0421 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	MORRIS VALTEAU	HC-14-198	ARCADIA 0507 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	LYNN ALBERT	HC-14-199	ARCADIA 0607 E	08-Apr-14	FIRST APPEARANCE
SCA	O	09:00 AM	RANDLE ERNESTINE	HC-14-200	ARCHER 0502 E	08-Apr-14	FIRST APPEARANCE
SCA	O	09:00 AM	HAGAMAN PAMELA	HC-14-197	ARCHER 0508 E	08-Apr-14	FIRST APPEARANCE
SCA	NO	09:00 AM	DANZ WARREN	HC-13-508	DECHMAN 2406/08	08-Apr-14	REVIEW
SCA	NO	09:00 AM	DANZ WARREN	HC-13-507	DECHMAN 2407	08-Apr-14	REVIEW
SCA	NO	09:00 AM	SALLYO INC.	HC-14-012	MISSOURI 2610 N	08-Apr-14	REHEARING/DEFAULT \$2000
SW	O	09:00 AM	SCHMILLEN LEONARD	HC-13-604	ADAMS 1311 SW	08-Apr-14	REVIEW

SW	C	09:00 AM	GEORGE O PASQUEL CO	HC-13-606	ADAMS 1401 SW	08-Apr-14	REVIEW
SW	C	09:00 AM	OLDFIELD ALLEN	HC-13-688	ADAMS 2927 SW	08-Apr-14	REVIEW
DG	O	09:45 AM	ARROWWOOD JOHN	HC-14-203	CIRCLE 1322	08-Apr-14	FIRST APPEARANCE
DG	NO	09:45 AM	YOUNGBLOOD LARRY	HC-14-061	LAKE 1316 E	08-Apr-14	REVIEW
DG	O	09:45 AM	HOOSTE SCOTT	HC-14-192	MCCLURE 1006 E	08-Apr-14	FIRST APPEARANCE
DG	NO	09:45 AM	KHOURISADER PAUL	HC-14-026	MCCLURE 1229 W	08-Apr-14	REVIEW
DG	O	09:45 AM	PITTMAN RUBY	HC-14-168	NEBRASKA 2615 W	08-Apr-14	REVIEW
DG	O	09:45 AM	HUFELD PEGGY	HC-13-548	OVERHILL 2627	08-Apr-14	REVIEW
GW	NO	09:45 AM	BEE-J PROPERTIES LLC	HC-13-771	LIVINGSTON 1720	08-Apr-14	REVIEW
GW	NO	09:45 AM	BAILEY SCOTT	HC-14-091	SEIBOLD 2919	08-Apr-14	REVIEW
LA	NO	09:45 AM	HEIM ROGER	HC-14-013	MALONE 2802 W	08-Apr-14	SERVE NEW/CONS. HC-14-077
LA	NO	09:45 AM	HEIM ROGER	HC-14-077	MALONE 2802 W	08-Apr-14	SERVE NEW
RM	NO	09:45 AM	YOUNGER VALERIE	HC-14-096	JOHN GWYNN 1213	08-Apr-14	REVIEW

<b>CODE COMPLIANCE CASE NO.</b>	<b>DEFENDANT</b>	<b>PROPERTY ADDRESS</b>	<b>PRE-HEARING FINE AMOUNT</b>	<b>INSPECTOR</b>	<b>COMMENTS</b>
14-1211	DAVIS, TODD	2416 W WISWALL ST	\$50.00	LA	1ST APP
14-1207	EWING, LYNETTE	2306 W WISWALL ST	\$50.00	LA	1ST APP
14-1205	MAGANA, JUAN	2423 W GARDEN ST	\$50.00	LA	1ST APP
13-4878	EDDY, DEBORA S.	3226 N PARISH AVE	\$300	LEAH ALLISON	REVIEW
14-1168	ECKHARDT, TAMMY	1123 NE ROCK ISLAND AVE	\$50	PM	1ST APP
14-940	HIGHFILL, JEFFREY	3509 NE MONROE ST	\$50	PM	1ST APP
14-822	JOHNSON, DOROTHY	1513 NE PERRY AVE	\$50	PM	1ST APP
14-1127	MEIER, DEBORAH	611 HAUNGS AVE	\$50	PM	1ST APP
14-1135	PARR, D	3600 NE MONROE ST	\$50	PM	1ST APP
14-1101	YOUNG-JONES, CHAQUAWANA	1510 NE PERRY AVE	\$50	PM	1ST APP
13-12092	BRINKMAN, GREGORY	813 SW WASHINGTON	\$500.00	RM	REVIEW
14-1190	GRB INC.	1413 W MILLMAN ST	\$50.00	RM	1ST APP
14-1037	SWITZER, WILLIAM C	2408 N CENTRAL AVE	\$50	SCA	1ST APP